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void setup() {
float yourWeight = 132;
float marsWeight = calculateMars(yourWeight);
printin(marsWeight);

}

float calculateMars(float w) {
float newWeight = w * 0.38;
return newWeight;

}
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void setup() {
float yourWeight = 132;
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void setup() { S
float yourWeight = 132; X513
float marsWeight = calculateMars(yourWeight);
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void setup() {
float yourWeight = 132;
float marsWeight = calculateMars(yourWeight);
printin(marsWeight);

}

float calculateMars(float w) {
float newWeight = w * 0.38;
return newWeight;
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void setup() {
float yourWeight = 132;
float marsWeight = calculateMars(yourWeight);
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void setup() {
float yourWeight = 132;
float marsWeight = calculateMars(yourWeight);
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}

float calculateMars(float w) {
float newWeight = w * 0.38;
return newWeight;
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void setup() {
float yourWeight = 132;
float marsWeight = calculateMars(yourWeight);
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return newWeight;

) marsWeightMD{E50.16H°
A —JULIZRIRSND.




EZRITEBDEDITA

A=A

void setup() {
float yourWeight = 132;
float marsWeight = calculateMars(yourWeight);
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float calculateMars(float w) {
float newWeight = w * 0.38;
return newWeight;
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